0.5
0.4

o
O 0.3
0.2

0.1

0.5
0.4

o
O 0.3
0.2

0.1

(@) Turbine 1

0.1 0.15 0.2 0.25 0.3 0.35 0.4 0.45
Strouhal number [-]

(c) Turbine 3

—— A =1

—-——-Baseline
A=15

—O0—A=2

b’_t‘—"&:__?%?___ﬁ?é@:bé

0.1 0.15 0.2 0.25 0.3 0.35 04 0.45
Strouhal number [-]

(b) Turbine 2

05F
0.4Ff
O 03Ff
o—— —————0o—
0.2f
A TN
01 | | | | | | | |

0.05 0.1 0.15 0.2 0.25 0.3 0.35 0.4 0.45
Strouhal number [-]

(d) Wind farm

1.05

—
T

Normalized power
o
o ©
© (6]
T T

085 | | | | | | | |
0.05 0.1 0.15 0.2 0.25 0.3 0.35 04 0.45

Strouhal number [-]



